Test 12, Form B SHOW YOUR WORK Name:

Give after Lesson 65

10.

11.

13.

16.

19.

20.

Geraldine had four pastures with 3 horses, 5 horses, 7 horses, and 17 horses in them, respectively. If she
switched the horses so that the same number were in each pasture, how many horses would be in each
pasture?

How many is % of a dozen?

How many years were there from 1621 to 19077

Round 329 to the nearest ten.

The circle had a radius of 13 inches. What was the diameter?

Find the missing number: 13 x 1 = 12 + W

What is the perimeter of this rectangle?

6in.

3in.

If you are facing south, what direction is to your left?

Write the standard form for (4 x 100,000) + (8 x 10,000) + (6 x 10) + (5 X 1).

Write the value of the 4 in 637,491.

3164 + 721 + 145 12. 5280 — 4933

$2.75 4. 52 1. 9%
%30 X 45
718442 17. 3 + % 18. 5% _3

Draw a square. Shade all but % of it. What percent of the square is shaded?

Use words to name 32180795.
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